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I. Draw the shear-force and bending-moment diagrams for the beam shown in Fig. 1. 20%
2. Using lhe method of joints, determine the force in members BC and CG of the truss shown in | 12.2. 20%
3. Abeam of T-section is supporled and loaded as shown in Fig. 3. Delermine: 20%
(a) The maximum Llensile stress in (he beam
(b) The maximuwm compressive stress in the beam
(¢) The maximum shear stress in the web
4. Astepped shaft ABCD consisting of solid circular segments is subjected 1o three (orque as shown in
Fig. 4. The material is steel wilh shear modulus of elasticily G= 12x10° ksi. Calculate:  20%
(a) The maximum shear stress in the shafi
(b) The angle of twist ¢, (in degree) al end D.

5. Determine the equation of the deflection curve for a cantilever beam AB subjected Lo a uniform load
of intensily ¢ as shown in Fig. 5. (Note: Use the second-order differential equation of the deflection
curve. The beam has constant flexural rigidily EI) 20%
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